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1 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.75 59.18 | #h S | 000 ~ 4.75| 1.86 9.95 Thlst 1.00 | 5.00 ~ 5.15 59.18 | =hbLs | 5,00 ~ 5.15| 1.86 9.95
2 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.40 94.42 | #nst | 0.00 ~ 7.40 | 2.03 10.89 Thlst 1.00 | 5.00 ~ 10.03 94.42 | =h5 | 5,00 ~ 1003] 2.03 10.89
3 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.40 94.42 | #nst | 0.00 ~ 7.40 | 2.03 10.89 Thlst 1.00 | 5.00 ~ 10.03 94.42 | Th5 | 5,00 ~ 1003] 2.03 10.89
4 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
ThList 1.00 | 0.00 ~ 7.75 99.55 | #nLS | 000 ~ 7.75| 2.25 12.03 Thlst 1.00 | 5.00 ~ 10.52 99.55 | Th4 | 5,00 ~ 1052)| 2.25 12.03
5 100kN/mM%#8x25 | 1.00 | 0.00 ~ 0.90 113.41 |3mZE#BZRB| — ~ — — — | 100kN/mi%E#8Z25 | 1.00 | 1055 ~ 1326 113.41 |3mZE#ZS - ~ — — —
s 1.00 | 0.90 ~ 8.68 100.00 | #=nLst | 0.00 ~ 868|216 11.55 Thlst 1.00 | 5.00 ~ 1055 100.00 | =nst | 5.00 ~ 1326 2.16 11.56
6 100kN/mM%#8x25 | 1.00 | 0.00 ~ 0.90 113.42 |3mZE#BZB| — ~ — — — | 100kN/mi%E#BZ25 | 1.00 | 1055 ~ 1326 113.42 |3mZE#ZSD - ~ — — —
s 1.00 | 0.90 ~ 8.68 100.00 | =St | 0.00 ~ 868|216 11.556 Thlst 1.00 | 5.00 ~ 1055 100.00 | =hLst | 5.00 ~ 1326 2.16 11.56
” 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 7.16 91.01 | #nd4t | 000 ~ 716 1.83 9.77 Fhst 1.00 | 5.00 ~ 9.14 91.01 | #hbis | 500 ~ 9.14 | 1.83 9.77
P 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 7.16 91.00 | =n4t | 000 ~ 716 1.83 9.77 Fhst 1.00 | 5.00 ~ 9.14 91.00 | =hbis | 5,00 ~ 9.14 | 1.83 9.77
9 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.62 83.46 | Tns | 0.00 ~ 0.00| 1.66 8.88 Fhst 1.00 | 5.00 ~ 8.14 83.46 | Ths | 5,00 ~ 814 | 1.66 8.88
10 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.33 79.62 | =L | 0.00 ~ 0.00| 1.58 8.45 Fhst 1.00 | 5.00 ~ 8.13 79.62 | Fhst | 500 ~ 813 | 1.568 8.45
11 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 7.06 89.63 | =nst [ 0.00 ~ 0.00] 1.61 8.61 Fhst 1.00 | 5.00 ~ 9.56 89.63 | Thst | 5,00 ~ 9.56 | 1.61 8.61
19 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/mMi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhnLst 1.00 | 0.00 ~ 7.13 90.62 | =n4st | 000 ~ 713 1.90 10.18 Fhst 1.00 | 5.00 ~ 942 90.62 | ThLs | 5,00 ~ 9.42| 1.90 10.18
13 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 7.13 90.64 | =nst | 000 ~ 713 1.90 10.17 Fhst 1.00 | 5.00 ~ 942 90.64 | ThLs | 5,00 ~ 9.42| 1.90 10.17
14 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3m%EBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 6.90 87.44 | =ns 000 ~ 690 | 1.82 9.72 zhst 1.00 | 5.00 ~ 8.58 87.44 | #hst | 5,00 ~ 8568| 1.82 9.72
15 100kN/mMZ#8Z % — - ~ — — |3mZE#EZDE| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3m%EBZ S - ~ — — —
ThLst 1.00 | 0.00 ~ 6.08 76.18 | #nst | 000 ~ 6.08)| 1.98 10.58 FhLs 1.00 | 5.00 ~ 7.77 76.18 | =S | 5,00 ~ 7.77] 1.98 10.58
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